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TOTAL | BT | TOTAL | NET TOTAL | JEfZ | TOTAL | NET

FE=A EF
345 1 353 4 (3024 6
K £ OUT | IN |TOTAL|HDCP| NET K % OUT| IN |TOTAL|HDCP| NET
£ BH B F 41 | 44 85 *| 144 | 706 B H £ & F 39 | 43 82 *| 72 |748*
B F 8 42 | 43 85 *| 10.8 | 74.2 = B B F 42 | 44 86 *| 144 |716*
Mmool o= 4 44 | 42 86 *| 12.0 |74.0 W B & F 43 | 44 87 *| 96 |774*
E # + K F 44 | 45 89 *| 120 |77.0 B OB A & 45 | 53 98 *| 19.2 |78.8
FOE F 49 | 43 92 | 144 (716 B R F F 51 | 48 99 | 204 |786*
TOTAL | AL | TOTAL | NET TOTAL | JEfZ | TOTAL | NET

FH=C 1Y
349 2 355 5 13034 8
K % OUT| IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
A& K OF M| 4 82 *| 84 736 - 38 | 4t 79 *| 48 |742*
5 B X F 41 | 46 | 87 *| 108|762 B @ & = 46 | 44 | 90 *| 156 |744*
¥ B B F 44 | 43 87 *| 10.8 | 76.2 w X F #& 44 | 47 91 *| 132 [77.8*
B & B X F 43 | 50 93 *| 16.8 | 76.2 A BH = & F 49 | 46 95 *| 180 | 77.0*
B B Z F 49 | 47 96 | 18.0 |78.0 H A = F 51 | 56 | 107 | 204 |86.6
TOTAL | l[E6Z | TOTAL | NET TOTAL | L | TOTAL | NET

IRZEIERA FHEB
350 3 361 6 (2974 3
K % OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
m OE B F 41 | 43 84 *| 96 |744 ¥ B A F 44 | 42 86 *| 12.0 |74.0*
% B OB E F 43 | 44 87 *| 96 |774 kR & ;T F 45 | 43 88 *| 168 |71.2*
E H X E E 43 | 46 89 *| 156 | 734 ¥ OF M F 45 | 48 93 *| 16.8 | 76.2*
B & 8 F 46 | 44 90 *| 96 804 B OR W F 48 | 46 94 *| 180 | 76.0*
B E H B 7 49 | 44 93 | 156 |714 /NS S B - - 49 | 47 96 | 144 (816
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TOTAL | Bz | TOTAL | NET TOTAL | JEfZ | TOTAL | NET
IEIGRB K
361 7 (3034 7 374 | 10 |3004| 4
K 4 OUT | IN |TOTAL |HDCP| NET K 4% OUT | IN |TOTAL|HDCP| NET
mo B - *E 39 | 47 86 *| 10.8 |75.2°* N kK = 39 | 45 84 *| 12.0 | 72.0*
g H#H F F 44 | 44 88 *| 132 |748* 1\~ S 45 | 49 94 *| 156 | 784 *
5 OB B F 44 | 48 92 *| 16.8 |75.2* b B B F 54 | 44 98 *| 18.0 |80.0
n B EF Y 44 | 51 95 *| 16.8 |78.2* N B F I 48 | 50 98 *| 24.0 | 74.0*
5 B M I 48 | 55 | 103 | 19.2 |83.8 5 A B & 52 | 48 | 100 | 240 |760*
TOTAL | IBSZ | TOTAL | NET TOTAL | JESL | TOTAL | NET
KHAR =B,
366 8 2946 1 374 11 [300.8| 5
K % OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
B A — ® 45 | 42 87 *| 156 |71.4* H B B 0w\ 43 | 47 90 *| 15.6 |744*
# B £ F 44 | 48 92 *| 16.8 |75.2* E B B O F 45 | 47 92 *| 156 |764*
w XX 8 B F 46 | 46 92 *| 12.0 |80.0 XABKR S HF 48 | 47 95 *| 216 |734*
M o B M OF 47 | 48 95 *| 204 |746* T A #E B X & 49 | 48 97 *| 204 |76.6*
F B X F 41 | 54 95 | 216 |734* B & 53 | 53 | 106 | 276|784
TOTAL | Bz | TOTAL | NET TOTAL | lBSZ | TOTAL | NET
=<5 FHED
373 9 12950 2 381 12 [3094| 9
K 4 OUT | IN |TOTAL HDCP| NET K % OUT | IN |TOTAL HDCP| NET
5 ¥ B F 42 | 46 88 *| 156 |724* =5 B = F 45 | 49 94 *| 180 [76.0*
Nooog o F 45 | 49 94 *| 19.2 [748* & XK M F 50 | 44 94 *| 156 |78.4*
I E Y Y F 44 | 50 94 *| 204 |736* M A E L F 48 | 48 96 *| 16.8 |79.2
T B B X F 49 | 48 97 *| 228 |742* = B #M F 46 | 51 97 *| 19.2 |778*
hn B T Z = 50 | 56 | 106 | 25.2 |80.8 5 X B F 50 | 50 | 100 | 228 |77.2*
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TOTAL | JlE6Z | TOTAL | NET

T
395 13 1317.0] 11
K & OUT| IN |TOTAL|HDCP| NET
' R E F 46 | 43 89 *| 108 |78.2*
E 3 B & F 46 | 46 92 *| 16.8 |75.2*
R # %= F 52 | 51 103 *| 216 |814*
BOH O OEF F 56 | 55 | 111 *| 28.8 |82.2*
TOTAL | JlEfz | TOTAL | NET

=R
411 14 1310.2| 10
K £ OUT | IN |TOTAL HDCP| NET
1A S S . 53 50 | 50 | 100 *| 24.0 |76.0*
2 H ;T F 50 | 53 103 *| 276 |754*
B & 1 = 53 | 50 | 103 *| 276 |754*
Bm B B F 55 | 50 | 105 *| 21.6 |834*
@& B % 60 | 55 | 115 | 30.0 |85.0
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